Series 60
Class 2500 Ball Valve

<SHARPE'

Valves, Automation & Controls

Features

e ASME B16.34 design

e Class 2500

e NACE MRO175 compliant
® Blow-out proof stem

e 17-4PH high strength stem
e Anti-static

e Llive loaded stem

e Encapsulated body seals
e |SO 5211 mounting pad
* Locking handle

e Relief slot in seat

e Choice of seats and seals
* Floating ball design

1S
o
(O]
o
o
=
o
>
[0
2
o
-
a
3
3
2
o
o
(e 0]
Q
AN
Ne)
v
©
o
NS
X
o
[N .
~
N
O
AN
Ne)
v
©
oS
NS
©
QO
o]
—
o™
N
N
N
<
N
N
~
N
®©
(0]
o
[ .
L2

O
>
2
s
M
@)
@)
Vo
N
e,
@,
=]
\O
i
[+ 4
Wy
7))
(1T
Q,
<
XL
7))



Parts & Materials

A HE
g (BT PN %
q / ©NW \ A ®° \\
f N\ | orr’ iz 3/4"~2"
Gm e
e 3/8"~1/2" Jﬁ§
§ C |
L —o o
| |
B C
5 @ i -
i% E 3
. U | uj
8 <_,‘ i q
g H 8
©
>
g x
o
-
3
S
5 3
= o
=
O <
09
o 2
o 3
L S
N3
w =
%)
Q g Dimensions (Inches)
O o
— 9 A B C D E F G H | J K L M
o) 2 3.07 1.53 711 1.55 2.93 043 0.69 074 | M5x2 | 1.34 - 3/824UNF | 0.22
O § 3.07 1.53 /.11 1.55 2.93 043 0.69 074 | M5x2 | 1.34 : 3/824UNF | 0.22
7)) _: 3.07 1.53 7.11 1.55 2.93 043 0.85 071 | M5x2 | 1.34 - 3/824UNF | 0.22
' T 3.49 1.74 | 701 1.68 | 3.06 | 0.56 107 | 0.63 | M5x5 | 1.34 | 059 | 3/824UNF | 0.22
E - 400 | 200 | 7.69 | 216 | 248 | 081 133 | 098 | M5x5 | 1.65 | 094 | 7/1620 UNF | 0.22
W Q 507 | 254 | 1153 | 289 | 3.15 1.25 1.91 094 | Mex5 | 1.57 142 | 9/16-18 UNF | 0.30
v N 614 | 307 | 1153 | 3.08 | 3.29 150 | 241 1.06 | Méx5 | 1.97 157 | 9/16-18 UNF | 0.34
[
w N
QA ~
X =
§ 8
(VI




O
>
2
s
M
@)
@)
)
N
S
@
o
O
i
[+ 4
[T
7))
(1T
Q,
<
XL
7))

Parts & Materials

1S
o
(O]
»n
o
=
o
>
[0
2
o
-
a
3
3
2
)
o
[e 0]
i~
AN
Ne)
v
©
o
NS
X
o
[N .
~
N
o
AN
Ne)
v
©
o
NS
©
QO
o]
—
o
N
N
N
<
N
N
~
N
®©
(0]
o
[ .
o)

No. Part Name | Qty |Material

] Body 1 Carbon Steel ASTM A216 WCB or 316 Stainless Steel ASTM A351 CF8M
2 Thrust Bearing 2 Nova, Peek

3 Stem 1 17-4PH

3A | AntiStatic Device ] 316 Stainless Steel

4 Stem Packing 1 Peek

5 Glond Packing ] 304 Stainless Steel

6 Belleville Washer 4 301 Stainless Steel

7 Packing Nut ] 304 Stainless Steel

8 Lock Tab 1 304 Stainless Steel

9 Upper Locking Device |1 304 Stainless Steel

10| Handle ] 304 Stainless Steel

1T | Lock Washer 1 304 Stainless Steel

12 | Handle Nut 1 304 Stainless Steel

13 | Ball ] 316 Stainless Steel

14 | Seat 2 Delrin, Peek

15 | Body Seal 2 Grafoil, Viton, PTFE

16 Pipe Ends 2 Carbon Steel ASTM A216 WCB or 316 Stainless Steel ASTM A351 CF8M
17 | Lower Locking Device |1 304 Stainless Steel

18 | Body Bolts b B8 304 Stainless Steel
19 | Body Washers 6 304 Stainless Steel
20 | Body Nuts 6 316 Stainless Steel

21 | Stop Pins ] 304 Stainless Steel




Technical Information

Class 2500 Tempature / Pressure Rating

7000

6500

6000

5500 < e
5000

— |

lTass 2500 WCB

4500

Pa

3500

I~
4000 \\ L
\
\

Pressure (PSIG)

3000 \\ EE Class 2500 CF8M

2500 DELRIN

N\
2000 \

N
1500
\

N\
1000 \

N\
500 \

0 100 200 300 400 500 600 700 800 900 1000
Temperature (°F)

Size . Cv | Weight*

/4 5 3.55
38 | 8 3.55
R 3.50
34 | 6l 5.30

1 73 9.90

1-1/2 82 21.00
2 150 29.00
* Threaded and Socket Weld Valves

Ordering

Fig: 1-1/2-60-4-6-D-T-TE
Description: 1-1/2" - 60 - Carbon Steel - 17-4PH Trim - Delrin Seat - TFE Seal - Threaded Ends

1S
o
(9)
»n
o
=
o
>
[0
2
o
-
2
3
3
2
)
o
[e 0]
i~
I
Ne)
v
©
o
NS
X
o
[N .
~
N
o
N
Ne)
v
©
o
NS
o
QO
o]
p—
o
N
N
a
Al
N
N
~
N
.
(0]
o
[ .
0

O
>
2
s
M
O
@)
)
N
S
@
o
O
i
[+ 4
[T
vy
(1T
Q,
<
XL
7))

Size |Series| Body & Ends Trim Seat Seal Ends Options
1/4 | 60 |4 |Carbon Steel 6 Stainless Steel D | Delrin T |TFE TE | Threaded 1 | ANSI CLT500 RF Flange
3/8 6 | Stainless Stegl (17-4PH) P | Peek 6 | Grafol SW | Socket Weld 1J | ANSI CL 1500 RTJ Flange
1/2 V| Vifon BW | Buttweld (Sch 160) | 2 | ANSI CL2500 RF Flange
3/4 TS | Threaded SAE 2J | ANSI CL2500 RTJ Flange
1 SWE| Extended Socket Weld | 3 | SAE J518 Flange
1-1/2 E | Extended Stem
2 L | Lockable Extended Stem
D | Leak Detection Stem
G0/ Gear Operator

Due to continuous development of our product range, we reserve the right to change the dimensions and information for this product as required.

o
~
w



